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AD–1012

M.Com. Semester—III (CGS) Examination

CORPORATE TAX PLANNING AND MANAGEMENT

Time : Three Hours] [Maximum Marks : 80

Note :— ALL questions are compulsory.

SECTION—A

Multiple Choice Questions. (Each question carries 1 mark).

1. The foreign company which has made the prescribed arrangements for the declaration and

payment of dividends (out of income in India) within India is also a :

(a) Not Ordinarily Resident (b) Substantial Interested Company

(c) Domestic Company (d) None of these

2. Popular name of company in which the public are substantially interested is :

(a) Widely Held Company (b) Closely Held Company

(c) Withheld Company (d) None of these

3. If Municipal Value of house property is Rs. 5,00,000; Fair Rent is Rs. 5,80,000 and Actual

Rent is Rs. 5,40,000. Gross Annual Value of house property will be :

(a) Rs. 5,00,000 (b) Rs. 5,80,000

(c) Rs. 5,40,000 (d) Rs. 80,000

4. If the whole amount of current depreciation allowance is not deductible on account of the

insufficiency of income (under various heads of income) the remaining amount is called :

(a) Additional depreciation (b) Unabsorbed depreciation

(c) WDV (d) None of these

5. Cost Inflation Index for the Financial Year 2022-23 is :

(a) 1024 (b) 272

(c) 853 (d) 331

6. Depreciation is allowed on :

(a) Animals (b) Tea bushes

(c) Patents (d) Goodwill of business

7. Capital Gain is classified into how many types ?

(a) Two (b) Three

(c) Four (d) Five
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8. To find out Long-term Capital Gain :

(a) Cost of Acquisition (b) Total Cost

(c) Index Cost (d) Cost of Sales

9. Deduction for Tax Planning for Hotel is :

(a) U/S 80 ID (b) U/S 10(i)

(c) U/S 80 IB (IIC) (d) None of these

10. The Total Income of a domestic company is taxable at the rate of :

(a) 20% (b) 30%

(c) 35% (d) 40%

11. U/S 41(3) selling asset without using it for business purpose, the selling price up to the cost

of asset is deemed :

(a) Income from other source (b) Capital Gain

(c) Business Income (d) None of these

12. When domestic company distributes dividends to its Shareholders, the company is liable to

tax on dividend U/S _____.

(a) 80 E (b) 115-O

(c) 80 IA (d) 10 AA

13. Offshore Banking units or International Finance Services Centers get deduction in respect of

certain incomes :

(a) U/S 80 IA (b) U/S 80 LA

(c) U/S 80 IB (d) None of these

14. Tax provision in respect of tax incentives to exporters in SEZ :

(a) U/S 80 IB (b) U/S 115JB

(c) U/S 10 A (d) U/S 10 AA

15. Developers are entitled to deduction U/S 80 IAB who derives profits and gains from

business of developing SEZ. Notified after _____ under SEZ Act.

(a) 31-3-2005 (b) 31-3-2015

(c) 1-4-2005 (d) 30-4-2005

16. Tax deduction available to certain industries for the initial few years is called :

(a) Tax Holiday (b) Tax

(c) TDS (d) Advance

17. Under which section interest shall be charged on deferment of advance tax ?

(a) 234A (b) 234B

(c) 234C (d) 234D

LT—1508 2 (Contd.)
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18. Ram earned Long-term Capital Gain on 20th March. He will pay advance tax on this
amount :

(a) Up to 15th  September (b) Up to 15th  December

(c) Up to 15th March (d) Up to 31st March

19. Due date for II installment of advance tax is :

(a) 15th September (b) 15th December

(c) 15th March (d) 15th June

20. _____ Section is related to interest on deposit in Saving Account.

(a) 87 A (b) 80 CCC

(c) 80 TTA (d) None of these 1×20=20

SECTION—B

1. (a) What do you mean by set-off and carry forward of losses ? Explain the provisions

regarding this. 12

OR

(b) Manwarlal Ltd. a company in which the public are substantially interested, has furnished

to you the following particulars for its assessment in respect of its Previous Year ended
on 31st March, 2022 :

Rs.

(1) New Business :

(a) Profit before allowing Depreciation 1,00,000

(b) Depreciation admissible 80,000

(2) Old Manufacturing Business :

(a) Profit before Depreciation 3,00,000

(b) Depreciation admissible 80,000

(3) Speculation Business – Profit/Loss :

(a) Oil – Loss 1,60,000

(b) Cotton – Profit 80,000

(4) Profit/Loss on Sale of Assets :

(a) Long-term (Indexed) Profit 2,00,000

(b) Short-term Loss 1,20,000

(5) Dividend from Indian Companies :

(a) Gross 2,00,000

(b) Expenses incurred 40,000

You are required to compute the total income of assessee company for the Assessment

Year 2022-23. 12
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2. (a) The Statement of Profit and Loss of Gajanan Ltd., for the year ended 31st March, 2022

shows a Net Profit of 15,00,000. The Statement of Profit and Loss includes the following

items among others :

(1) Dividend from an Indian Company (Gross) 1,00,000

(2) Net Rent from House Property (let out to outsiders)

after debiting repairs Rs. 1,000 and Municipal Tax

Rs. 3,000 23,000

(3) Profit of New Industrial Unit situated at Himachal Pradesh

(Backward Industrial State). This unit was established in

Jan. 2012 85,000

(4) Provision for taxation 20,00,000

(5) Cost of maintenance of a Liaison Office in New York

for promoting exports 60,000

(6) Legal expenses for contesting a suit for eviction from a

premises used as a show-room 3,000

(7) Expenses for obtaining a loan from a financial institution

for acquiring new machinery 20,000

(8) Amount embezzled by the cashier of the company, which

is irrecoverable 15,000

Compute the total income of the company for the relevant assessment year. 12

OR

(b) What is Tax Planning ? Explain its characteristics and importance. Distinguish between

‘Tax Planning’ and ‘Tax Management’. 12

3. (a) Explain the tax planning in respect of sale of assets, replace and renovations. 12

OR

(b) Explain the tax planning provision in respect of infrastructure facility. 12

4. (a) Discuss the provisions of deduction in respect of profits and gains from housing project

u/s 80IBA of the Income Tax Act. 12

OR

(b) Explain special tax provisions relating to free trade zones. 12

5. (a) What do you understand by Advance Payment of Tax ? Explain clearly the provisions

of the Income Tax Act in this respect. 12

OR

(b) Discuss the provision of Income Tax Act relating to Amalgamation of Company. 12

LT—1508 4 (Contd.)
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AD–1012

M.Com. Semester—III (CGS) Examination

CORPORATE TAX PLANNING AND MANAGEMENT

Time : Three Hours] [Maximum Marks : 80

¼ejkBh ek/;e½

lwpuk :— loZ iz’u lksMfo.ks vfuok;Z vkgs-

foHkkx—v

¼cgqi;kZ;h iz’u½

1. ,d fons’kh daiuh T;kauh izkIr mRiUu ¼Hkkjrk e/;s izkIr½ ;k laca/kh ykHkka’kkph ?kks"k.kk vkf.k ’kks/ku dj.;kph fu/kkZfjr
O;oLFkk Hkkjrke/;s dj.;kr vkyh vlsy rj rh _______ gksbZy-

¼v½ vlk/kkj.k fuoklh ¼c½ lok±ps fgrs tksikl.kkjh daiuh

¼d½ ns’kh daiuh ¼M½ ;kiSdh ukgh

2. tursps fgr tksikl.kkÚ;k daiuhps izpfyr uko ______ vkgs-

¼v½ okbZMyh gSYM daiuh ¼c½ Dykstyh gSYM daiuh

¼d½ fon gSYM daiuh ¼M½ ;kiSdh ukgh

3. tj x‘g laifÙkps uxjikfydk ewY;kadu 5,00,000 #- izekf.kr HkkMs 5,80,000 #- vkf.k okLrfod HkkMs 5,40,000
#- vkgs rj x‘g laifÙkps ldy okf"kZd ewY; ______ gksbZy-

¼v½ 5,00,000 #- ¼c½ 5,80,000 #-

¼d½ 5,40,000 #- ¼M½ 80,000 #-

4. tj vi;kZIr mRiUu ¼brj loZ òksrkaiklwu mRiUu½ P;k dkj.kkeqGs pkyw o"kkZrhy iw.kZ ?klkjk otk djrk ;sr ulY;keqGs]
f’kYyd jDdesyk ________ Eg.krkr-

¼v½ vfrfjDr ?klkjk ¼c½ v’kksf"kr ?klkjk

¼d½ viys[khr eqY; ¼M½ ;kiSdh ukgh

5. foÙkh; o"kZ 2022-23 lkBh O;; LQhrh lwpdkad _______ vkgs-

¼v½ 1024 ¼c½ 272

¼d½ 853 ¼M½ 331

6. vo{k;.k LohÑr vkgs %

¼v½ tukojkoj ¼c½ pgkP;k >kMkaoj

¼d½ isVsaV ¼M½ O;olk;kph [;krh

7. HkkaMoyh u¶;kps fdrh izdkj vkgsr \

¼v½ nksu ¼c½ rhu

¼d½ pkj ¼M½ ikp
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8. nh?kZdkyhu HkkaMoyh u¶;kph x.kuk _______ e/;s dsyh tkrs-

¼v½ laiknukph fdaer ¼c½ ,dw.k fdaer

¼d½ funsZ’kkad fdaer ¼M½ foØ; ifjO;;

9. djdikrhlkBh gkWVsy O;olk;k ckcr djfu;kstukps ______ vkgs-

¼v½ dye 80 ID ¼c½ dye 10(i)

¼d½ dye 80 IB ¼IIC½ ¼M½ ;kiSdh ukgh

10. ns’kkarxZr daiuhps ,dw.k mRiUu ________ P;k njkus djik= vkgs-

¼v½ 20% ¼c½ 30%

¼d½ 35% ¼M½ 40%

11. dye 41(3) P;k varxZr laifÙk O;olk;kr u okijrk laifÙk fodY;kl] laifÙk ps ykxr ewY; i;±r foØh ewY; ______
ekuys tkrs-

¼v½ brj lk/kuk iklwu mRiUu ¼c½ iwath ykHk

¼d½ O;olkf;d mRiUu ¼M½ ;kiSdh ukgh

12. tsOgk Lons’kh daiuh vkiY;k Hkkx/kkjdkauk ykHkka’k forfjr djrkr rsaOgk daiuh dye ______ uqlkj ykHkka’kkoj djns;
gksbZy-

¼v½ 80 E ¼c½ 115 O

¼d½ 80 IA ¼M½ 10 AA

13. c¡dkauk fons’kkrhy ’kk[ksdjhrk fdaok vkarjjk"Vªh; foÙkh; lsok dsanzkuk R;kaP;k fof’k"V mRiUuklkBh dikr ______ P;k
varxZr feGrs-

¼v½ dye 80 IA ¼c½ dye 80 LA

¼d½ dye 80 IB ¼M½ ;kiSdh ukgh

14. SEZ e/;s fu;kZrdkauk dj loyr ¼lwV½ P;k laca/kkr rjrwn e/;s vkgs %

¼v½ dye 80 IB ¼c½ dye 115 JB

¼d½ dye 10 A ¼M½ dye 10 AA

15. dye 80 IAB ph dikr R;k fodkldR;k±uk izkIr gksbZy th fo’ks"k vkfFkZd {ks= dk;|karxZr _____ P;k uarj vfèklwfpr
dks.kR;k gh fo’ks"k vkfFkZd {ks=kpk fodkl djhrk vkgs-

¼v½ 31-3-2005 ¼c½ 31-3-2015

¼d½ 1-4-2005 ¼M½ 30-4-2005

16. dkgh m|ksxkauk lq#okrhP;k dkgh o"kk±lkBh miyC/k dj dikrhyk ______ Eg.krkr-

¼v½ VWDl gkWfyMs ¼c½ VWDl

¼d½ TDS ¼M½ vWMOgkUl

17. dks.kR;k dyekarxZr vkxkÅ dj iq<s <dyY;koj O;kt vkdkjys tkrs %

¼v½ 234A ¼c½ 234B

¼d½ 234C ¼M½ 234D



139

139

13
9

139 139

LT—1508 7 (Contd.)

18. jkeus 20 ekpZ jksth nh?kZdkyhu HkkaMoyh uQk feGoyk- rks ;k jdesoj vkxkÅ dj Hkjsy %

¼v½ 15 lIVsacj i;±r ¼c½ 15 fMlsacj i;±r

¼d½ 15 ekpZ i;±r ¼M½ 31 ekpZ i;±r

19. vkxkÅ djkP;k nqlÚ;k gIR;kph ns; rkjh[k vkgs %

¼v½ 15 lIVsacj ¼c½ 15 fMlsacj

¼d½ 15 ekpZ ¼M½ 15 twu

20. cpr [kkR;kojhy O;ktkP;k lacaf/kr dye _______.

¼v½ 87A ¼c½ 80 CCC

¼d½ 80 TTA ¼M½ ;kiSdh ukgh 1×20=20

foHkkx—c

1. ¼v½ gkuh iqrhZ vkf.k gkuh vxzs;u Eg.kts dk; \ ;kckcrP;k rjrqnh Li"V djk- 12

fdaok

¼c½ euojyky fyfeVsM] ,d daiuh T;ke/;s tursyk eksBîk izek.kkr jl vkgs] frus 31 ekpZ 2022 jksth laiysY;k
ekxhy o"kkZP;k ewY;kadukP;k mís’kkus [kkyhy ri’khy lknj dsys vkgsr %

#-

(1) uohu O;olk; %

¼v½ ?klkjk eatwj dj.;kiwohZ uQk 1,00,000

¼c½ LohÑr voewY;u 80,000

(2) tquk mRiknu O;olk; %

¼v½ ?klkÚ;kiwohZpk uQk 3,00,000

¼c½ voewY;u Lohdk;Z 80,000

(3) lV~Vk O;olk; – uQk@rksVk %

¼v½ rsy – gkuh 1,60,000

¼c½ dkiwl – uQk 80,000

(4) ekyeÙksP;k foØhoj uQk@rksVk

¼v½ nh?kZdkyhu ¼vuqØfer½ uQk 2,00,000

¼c½ vYidkyhu rksVk 1,20,000

(5) Hkkjrh; daiU;k iklwu ykHkka’k

¼v½ ,dw.k 2,00,000

¼c½ [kpZ 40,000

2022-23 ewY;kadu o"kkZlkBh daiuhP;k ,dw.k mRiUukph x.kuk djk- 12
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2. ¼v½ 31 ekpZ 2022 jksth laiysY;k o"kkZlkBh xtkuu fy- ps uQk vkf.k rksVk fooj.ki= 15,00,000 pk fuOoG

uQk n’kZfors- uQk vkf.k rksVk fooj.ki=kr [kkyhy ckchapk lekos’k vkgs %

(1) Hkkjrh; daiuhdMwu ykHkka’k ¼,dw.k½ 1,00,000

(2) nq#LrhlkBh 1,000 #- vkf.k uxjikfydk dj 3,000 #- MsfcV dsY;kuarj

?kjkP;k ekyeÙksps fuOoG HkkMs ¼ckgsjhy yksdkauk HkkT;kus fnysys½ 23,000

(3) fgekpy izns’k ¼ekxkl vkS|ksfxd jkT;½ ;sFks fLFkr uohu vkS|ksfxd ;qfuVpk

uQk- ;k ;qfuVph LFkkiuk tkusokjh 2012 e/;s >kyh 85,000

(4) dj vkdkj.khlkBh rjrwn 20,00,000

(5) fu;kZrhyk pkyuk ns.;klkBh U;w;kWdZe/khy laidZ dk;kZy;kP;k ns[kHkkyhpk [kpZ 60,000

(6) ’kks&:e Eg.kwu okijY;k tk.kkÚ;k tkxsrwu fu"dkluklkBh [kVyk y<o.;kpk

dk;ns’khj [kpZ 3,000

(7) uohu ;a=lkexzh ?ks.;klkBh foÙkh; laLFksdMwu dtZ feGfo.;klkBhpk [kpZ 20,000

(8) daiuhP;k jks[kikykus [kpZ dsysyh jDde] th ijr u djrk ;s.kkjh vkgs 15,000

lacaf/kr ewY;kadu o"kkZlkBh daiuhP;k ,dw.k mRiUukph x.kuk djk-

12

fdaok

¼c½ dj fu;kstu Eg.kts dk; \ R;kph oSf’k"Vîs vkf.k egÙo Li"V djk- dj fu;kstu vkf.k dj O;oLFkkiu ;krhy

Qjd fygk- 12

3. ¼v½ ekyeÙksph foØh] iquZLFkkiuk vkf.k uwruhdj.kkP;k lanHkkZr dj fu;kstu Li"V djk- 12

fdaok

¼c½ ik;kHkwr lqfo/kkaP;k lanHkkZr dj fu;kstukP;k rjrqnh Li"V djk- 12

4. ¼v½ vk;dj dk;|kP;k 80 IBA varxZr x‘gfuekZ.k izdYikrhy uQk vkf.k u¶;kP;k lanHkkZr dikrh rjrqnhaph ppkZ

djk- 12

fdaok

¼c½ eqDr O;kikj {ks=k’kh lacaf/kr fo’ks"k dj rjrqnh Li"V djk- 12

5. ¼v½ vxzhe dj ’kks/ku ;kiklwu vki.kkl dk; vFkZcks/k gksrks \ ;k lanHkkZr vk;dj dk;|krhy rjrqnh Li"V djk-

12

fdaok

¼c½ vk;dj dk;|k varxZr daiuh ,dhdj.k (Amalgamation) lanHkkZrY;k rjrqnha ph ppkZ djk- 12
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AD–1012

M.Com. Semester—III (CGS) Examination

CORPORATE TAX PLANNING AND MANAGEMENT

Time : Three Hours] [Maximum Marks : 80

¼fgUnh ek/;e½

lwpuk :— lHkh iz’uksa dks gy djuk vfuok;Z gSaA

foHkkx—v

¼cgqi;kZ;h iz’u½

1. ,d fons’kh daiuh ftlus vftZr vk; ¼Hkkjr esa vftZr½ ds laca/k esa ykHkka’k ?kksf"kr ,oa Hkqxrku djus dk fu/kkZfjr
izca/k Hkkjr esa dj fn;k gks og Hkh _______ gksxhA

¼v½ vlk/kkj.k fuoklh ¼c½ lcds fgrokyh daiuh

¼d½ ?kjsyw daiuh ¼M½ buesa ls dksbZ ugha

2. turk ds fgrokyh daiuh dk izpfyr uke gS ______ A

¼v½ okbZMyh gSYM daiuh ¼c½ Dykstyh gSYM daiuh

¼d½ fon gSYM daiuh ¼M½ buesa ls dksbZ ugha

3. ;fn edku laifÙk dk uxjikfydk ewY; 5,00,000 #-] mfpr fdjk;k 5,80,000 #- vkSj okLrfod fdjk;k
5,40,000 #- gSA edku laifÙk dk ldy okf"kZd ewY; ______ gksxkA

¼v½ 5,00,000 #- ¼c½ 5,80,000 #-

¼d½ 5,40,000 #- ¼M½ 80,000 #-

4. ;fn vi;kZIr vk; ¼fofo/k lzksrksa ls vk;½ ds dkj.k pkyw o"kZ dk laiw.kZ Úgkl u ?kVk;k tk lds rks ’ks"k jk’kh ________
dgykrh gSA

¼v½ vfrfjDr Úgkl ¼c½ vuo’kksf"kr Úgkl

¼d½ viys[khr ewY; ¼M½ buesa ls dksbZ ugha

5. foÙkh; o"kZ 2022-23 ds fy, ykxr LQhrh lwpdkad _______ gSA

¼v½ 1024 ¼c½ 272

¼d½ 853 ¼M½ 331

6. vo{k;.k LohÑr gS %

¼v½ i’kqvksa ij ¼c½ pk; dh >kfM+;ksa ij

¼d½ ,dLo ¼M½ O;olk; dh [;kfr

7. iwathxr ykHk dks fdrus izdkjksa esa ckaVk x;k gS \

¼v½ nks ¼c½ rhu

¼d½ pkj ¼M½ ik¡p
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8. nh?kZdkyhu iwath ykHk dh x.kuk esa _______ dh tkrh gSA

¼v½ izkIr djus dh ykxr ¼c½ dqy ykxr

¼d½ funsZ’kkad ykxr ¼M½ foØ; ykxr

9. gkWVsy ds fy, dj fu;kstu esa dVkSrh ds ______ rgr gSA

¼v½ /kkjk 80 ID ¼c½ /kkjk 10(i)

¼d½ /kkjk 80 IB ¼IIC½ ¼M½ buesa ls dksbZ ugha

10. ,d ?kjsyw daiuh dh dqy vk; ________ dh nj ls dj ;ksX; gSA

¼v½ 20% ¼c½ 30%

¼d½ 35% ¼M½ 40%

11. /kkjk 41(3) ds varxZr laifÙk dks fcuk O;olk; esa iz;ksx fd, cspus ij laifÙk ds ykxr ewY; rd dk foØ; ewY;
______ ekuk tkrk gSA

¼v½ vU; lk/kuksa ls vk; ¼c½ iwath ykHk

¼d½ O;olkf;d vk; ¼M½ buesa ls dksbZ ugha

12. tc ?kjsyw daiuh vius va’k/kkfj;ksa dks ykHkka’k forfjr djrh gS rc daiuh /kkjk ______ esa ykHkka’k ij dj gsrq nkf;Ro
gksxkA

¼v½ 80 E ¼c½ 115 O

¼d½ 80 IA ¼M½ 10 AA

13. cSad dh fons’kh bdkbZ ;k varjkZ"Vªh; foÙk lsok dsanz dh vk; ds laca/k esa dVkSrh ______ ds varxZr feyrh gSA

¼v½ /kkjk 80 IA ¼c½ /kkjk 80 LA

¼d½ /kkjk 80 IB ¼M½ /kkjk ukgh

14. SEZ esa fu;kZrdksa dks dj NwV ds laca/k esa izko/kku _______ esa gSA

¼v½ /kkjk 80 IB ¼c½ /kkjk 115 JB

¼d½ /kkjk 10 A ¼M½ /kkjk 10 AA

15. /kkjk 80 IAB dh dVkSrh ml fodkldrkZ dks izkIr gksxh tks fo’ks"k vkfFkZd {ks= vf/kfu;e ds varxZr _____ ds i’pkr
vf/klwfpr fdlh fo’ks"k vkfFkZd {ks= dk fodkl djrk gSA

¼v½ 31-3-2005 ¼c½ 31-3-2015

¼d½ 1-4-2005 ¼M½ 30-4-2005

16. ’kq:vkrh dqN o"kks± ds fy, dqN m|ksxksa ds fy, miyC/k dj dVkSrh dks ______ dgk tkrk gSA

¼v½ VWDl gkWfyMs ¼c½ VWDl

¼d½ TDS ¼M½ vWMOgkUl

17. fdl /kkjk ds rgr vfxze dj dh eksgyr c<+kus ij C;kt yxk;k tk,xk %

¼v½ 234A ¼c½ 234B

¼d½ 234C ¼M½ 234D
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18. jke us 20 ekpZ dks nh?kZdkyhu iwathxr ykHk vftZr fd;kA og bl jkf’k ij vfxze dj dk Hkqxrku djsxk %

¼v½ 15 flrEcj rd ¼c½ 15 fnlEcj rd

¼d½ 15 ekpZ rd ¼M½ 31 ekpZ rd

19. vfxze dj dh f}rh; fd’r ds fy, ns; frfFk gS %

¼v½ 15 flrEcj ¼c½ 15 fnlEcj

¼d½ 15 ekpZ ¼M½ 15 twu

20. cpr [kkrs ds C;kt ls lacaf/kr /kkjk _______ gSA

¼v½ 87A ¼c½ 80 CCC

¼d½ 80 TTA ¼M½ buesa ls dksbZ ugha 1×20=20

foHkkx—c

1. ¼v½ gkfu;ksa dks vkxs ys tkus rFkk mudh iwfrZ ;kus D;k \ mlds izko/kkuksa dks Li"V dhft;sA 12

vFkok

¼c½ euojyky fyfeVsM ,d daiuh] ftlesa turk dk lkjoku fgr gS] 31 ekpZ 2022 dks lekIr xr o"kZ ds lacaèk

esa vius dj&fu/kkZj.k gsrq fooj.k izLrqr fd, gS %

#-

(1) u;k O;olk; %

¼v½ Ðkl LohÑr djus ls iwoZ ds ykHk 1,00,000

¼c½ LohÑr Ðkl 80,000

(2) iqjkuk fuekZ.kh O;olk; %

¼v½ Ðkl ds iwoZ ykHk 3,00,000

¼c½ LohÑr Ðkl 80,000

(3) lV~Vs dk O;kikj – ykHk@gkfu %

¼v½ rsy – gkfu 1,60,000

¼c½ :bZ – ykHk 80,000

(4) lEifÙk;ksa ds foØ; ls ykHk@gkfu %

¼v½ nh?kZdkyhu ¼lqpdkafdr½ ykHk 2,00,000

¼c½ y?kqdkyhu gkfu 1,20,000

(5) Hkkjrh; daifu;ksa ls ykHkka’k

¼v½ ldy 2,00,000

¼c½ fd, x, O;; 40,000

2022-23 dj fu/kkZj.k o"kZ ds fy, daiuh dh dqy vk; dh x.kuk dhft,A 12
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2. ¼v½ 31 ekpZ 2022 dks lekIr o"kZ ds fy, xtkuu fyfeVsM dk ykHk vkSj gkfu fooj.k 15,00,000 #i;s dk

’kq) ykHk n’kkZrk gSA ykHk vkSj gkfu fooj.k esa fuEufyf[kr ’kkfey gSa %

(1) Hkkjrh; daifu;ksa ls ykHkka’k ¼dqy½ 1,00,000

(2) ejEer ds fy, 1,000 #- vkSj uxjikfydk dj ds fy, 3,000 #-

MsfcV djus ds ckn edku laifÙk dk ’kq) fdjk;k ¼ckgjh yksxksa dks

fdjk;s ls fn;k½ 23,000

(3) fgekpy izns’k ¼,d fiNM+s vkS|ksfxd jkT;½ esa fLFkr ,d ubZ

vkS|ksfxd bdkbZ dh ykHkiznrkA bl bdkbZ dh LFkkiuk tuojh

2012 esa gqbZ FkhA 85,000

(4) djk/kku ds fy, izko/kku 20,00,000

(5) fu;kZr dks c<+kok nsus ds fy, U;w;kWdZ esa laidZ dk;kZy; j[kj[kko

dh ykxr 60,000

(6) ’kks&:e ds :i esa mi;ksx fd, tkus okys ifjlj ls csn[kyh ds fy,

eqdnek yM+us dk dkuwuh [kpZ 3,000

(7) ubZ e’khujh [kjhnus ds fy, foÙkh; laLFkku ls _.k izkIr djus dh ykxr 20,000

(8) daiuh ds dSf’k;j }kjk [kpZ dh xbZ jkf’k] tks vizfrns; gSA 15,000

izklafxd fu/kkZj.k o"kZ ds fy, daiuh dh dqy vk; dh x.kuk djsaA

12

vFkok

¼c½ dj fu;kstu D;k gS \ bldh fo’ks"krkvksa vkSj egRo dks Li"V dhft;sA ^dj fu;kstu* vkSj ^dj izca/ku* ds

chp varj Li"V dhft,A 12

3. ¼v½ laifÙk dh fcØh] gLrkarj.k vkSj uohdj.k ds laca/k esa dj ;kstuk dks Li"V dhft;sA 12

vFkok

¼c½ cqfu;knh <kaps ds laca/k esa dj fu;kstu izko/kkuksa dks Li"V dhft;sA 12

4. ¼v½ vk;dj vf/kfu;e dh /kkjk 80 IBA ds rgr vkokl ifj;kstukvksa ij ykHk vkSj ykHk ds laca/k esa dVkSrh ds

izko/kkuksa ij ppkZ dhft;sA 12

vFkok

¼c½ eqDr O;kikj {ks= ls lacaf/kr fo’ks"k dj izko/kkuksa dks Li"V dhft;sA 12

5. ¼v½ dj ds vfxze Hkqxrku ls vki D;k le>rs gSa \ bl laca/k esa vk;dj vf/kfu;e ds izko/kkuksa dks Li"V dhft;sA

12

vFkok

¼c½ daiuh ,dhdj.k (Amalgamation) gsrq vk;dj vf/kfu;e ds izko/kkuksa dh ppkZ dhft;sA 12


